
Sport Poly Roof for Polaris General 4 1000

ZP-YJ-030507-030

BEFORE YOU BEGIN
Read these instructions and check to be sure all parts and tools are accounted for. Please retain
these installation instructions for future reference.

IMPORTANT
This Roof is exclusively designed for your vehicle. Please read the installation instructions
thoroughly before beginning. Installation is easier if the vehicle is clean and free of debris. For your
safety, and to ensure a satisfactory installation, perform all installation steps correctly in the
sequence shown.

INSTALLATION INSTRUCTIONS
Note: Shift vehicle transmission into “PARK”.
Turn key to “OFF” position and remove from
vehicle.

Product and accessories picture

1. Attach the sponge strips( in the accessory
bag ) to the borders of the vehicle roof (stick
on the side of the roof facing up). As the
picture shows:

2. Use M6*16 self-tapping screws to
assemble the four pieces of the roof into a
whole (each screw needs to be covered with a
flat washer before use). As the picture
shows:



Sport Poly Roof for Polaris General 4 1000

ZP-YJ-030507-030

3. Clamp the matching steel clips to the fixed
corners on both sides of the roof (stuck in the
inside), and use M6*16 screws to fix (each
screw needs to be covered with a flat washer
before use). As the picture shows:

4. Use M6*19 self-tapping screws to fix the
brackets on the roof. As the picture shows:



Sport Poly Roof for Polaris General 4 1000

ZP-YJ-030507-030

5. If the vehicle is a full door model, need to
use tools to cut off the 6 fixed angles on both
sides of the roof to avoid interference with the
door frame (use M3*12 self-tapping screws to
fix the roof before cutting). As the picture
shows:

Note: If the vehicle is a half-door model, this
step can be directly omitted and proceed to
step 6.

6. To place the assembled roof on the original
vehicle, the limit hooks of the front end of the
roof should be stuck into the notches of the
original vehicle completely, and then install the
steel clips on both sides of the top of the



Sport Poly Roof for Polaris General 4 1000

ZP-YJ-030507-030

vehicle framework, and use M5*50 screws to
fix them from the top of the roof. As the
picture shows:

7. Clamp the roof brackets on the beam bar in
the middle of the original vehicle, and use
M6*20 screws to fix it. As the picture shows:

8. Attach the iron bracket supporting the roof
to the middle section of the rear beam bar of
the original vehicle, and then use M6*20
screws to fix it. As the picture shows:



Sport Poly Roof for Polaris General 4 1000

ZP-YJ-030507-030

9. Finally, stick the fixed hooks on the side
beam bar of the original vehicle, and then use
the self-tapping screws to fix them (install total
8 fixed hooks, 4 on the left side, 4 on the right
side). As the picture shows:

10. Installation completed.



Sport Poly Roof for Polaris General 4 1000

ZP-YJ-030507-030

Note: Please refer to the installation video in
the Amazon listing before your installation, or
contact the seller for the installation video.


